1-1_0 BRERR TS

— EEEE3IT o H#£339)
L () FEXREHILF20E  FES 7 U
80 77 FyREAE > 90 77 DA+2 o 0 /D
A ETT DL -5 For 0 A/ NHYS
HE R 25/ 053 2
(A)70 73 (B)65 77
77
(F%) D
aFfg 80 77 Ry kLR
1 BEA7=(90—80)+2=5 4%
5x5=25 > 80—25=55
(D)
2. (

(C)60 53 (D)55

) IR —IH A R BRI R ?
(A)FEE B)EK (OEM (D)
AA
(%) D
AR T AR NEREEEERAER - #UE(D)
3. () EHIEER b A BB /A8 > HEd
JFUREAHEE 2 BT - A 4 BERTUERAY
L SGTE 2
(A4 B)—4 (©2 (D)2

(%) D

SEfE - A BTG ACE 2 BALRE 0 oAy 2

i535(D)
4. (

) AT ER SRR AR DL 30 7
FoFEAE 15 40 43EC(E + 10 - FREES 25
SolaifEZ/ D ?

(A)—25 (B)+25 (C)—5 (D)+5
(BF=E) C

sEfif 1 DL 30 oy ke

1 BEfir =(40—30)+10=1 %}

(30—25)+1=5» FRLAEC Ry —5

HEE(C)
5. C ) Fa~b~c~d R ETUERFT
FHVEL > R ARG IR 2
(AYE a £ b AR > Hla<b
(B)# ¢ f£ d VEHE > H d FER BT A
%> Hle<0
(O c EdWAEE H dIE aNEE >
Hla<c
(D) a £ b WVAE H a fE d WS >
H b<d
(ZF%Z) D

AEfR ¢ BEIE(A) ¢

b d

>a>b

HETH(B)
¢ 4 cd
0 £ 0
Hl c<0 8 c>0
HEIH(C)
¢ ¢ d a ¢ d

» 1 1 1 ] >
EQ T T T

Hla>c 2 a<c
#EIH(D) -
b a

5 (D)
11
6. ( )EHLFR-3-36-12" ?E’Jg
o U — BB AR ©
11
(W)=3 (BB6 (©O12 D)7

(&%) D

=il b<d

g o 1 11
| > 136> -3]>]12]

11, -
?HLX?%EJEEHE@ ’

i 2E(D)

7. C Y&FM| =3[ ~—= 5[ ~—=1=7]>
—(— DA B - A RE S 7
(M1 B2 (O3 (DM

(BF%) B

affE | =3 | =3 30MHKRE 3

— |5 ==5> —509MKE 5

— | =7 ==7> —THIHRER 7

—(—4)=4> 4 R —4

HE 2 [EE% > HUEB)

8. () WEFR 4B~ C =EiFH{{FENE
AU Sy B R ~ £~ =% Rl
HREF ~ 2~ A =B EHE RS A]

FrIEAE ?
4B ¢
0 1
A [H|>[Z]>]|A]
B[ Z [ > [>][H]
OR[> 1H[>]Z]
O [H|>[2]>]H ]

(&%) D

1 1
=a A _15 » FH=4 EI’WFEJQ%Z:IE



B=2> Z.=BWIfHK#=—2
C=4> N=CHItHKE = —4
FRBL A > 2] > | H
H3EE(D)
2
9. ( )Eb#E—4-0- 3§~ — 1.6 (YA EHME K
/N HEER B A ?
2
(A)|—4|>|0|>|3§\>\—

1.6 |

2
® 31> 10]>]-16]>]—
4|

2
©f—4l>]-16]> 371>
0]

2
@[ -4 >35> -16]>]

0]
(&%) D
2

StiE: | 4| =45 0] =00 35| =325 |
é é':- —_— p— b pr— b —_ _— 4= _—

3 3
16| =1.6

2
'.'4>3§>1.6>0

2
.'.|—4|>|3§\>\—1.6|>|0|

i535(D)
10. ¢ D& |HE | > | 28| AR
& ?

(A)FHEA AT RERTY L8

(B) 23 Al RE R FH B

(O ZHAIHER 0

(D)FHEATRE R 0

(%) D

FEIE ¢ AEEHMELL R EEY O

EH=00F 0> | Z8 | > AIZEAFE
FTLAFHEA ATRE R O

(D)§iaR - #235(D)

—

11 () HEREE - Ho< | H [ <3
a7 [ B 2% (1 2
(A)2{H B)3fE (O4{H (D)s{E

(E%) C

REAE =11~ 225 R4

2 (C)

ZER (BHEEE3 S $367)

1 BR b A BTN —5 5 4 [WA%E) 3 B

RIGERE 4 FTRoRaE Ry
(BE) —2

R
2. RAKERPGAREATENY SO 30 [ b+

30 For o AIIPEEE 1S FEATEC Ay °
(BF) —15

afff L RASDL T+ Fono AR T - #
7N
;AR 15 EESL B — 15
3. TREANLL 60 73 R AEAE - /N3 69 93 > AIGD
Fy+9 » FRE/ N 51 97 > AR Ry o
(BFZE) -9
SFfFE 1 60 73 FykkAE
1 BEfir =(69—60):9=1 %}
(60—51)+1=9 » FrLAEL A —9
4. —WFREIDL 2 /N Bsnt BB - FTHIS VRS
4.5 > F5LL 30 o3 Reat EEAL - RIFTHISHY
BEL e
(BZFE) 18

SERR 1 2x4.5=9(/]\I%) = 540(%)

540+30=18
5. WIRLIPF 12 BRI T4 8 B
4 JEE 1A 4 BETRAE :

(BZE) —4
SR R4 12 BE R EE
T4 8 B Ry 20 Bh
1 A7 =(20—12)+4=2 %
(12—4)=2=4 > Frllid B —4
6. AR = HEAMEERTTHERK 10000 JT »5C 5 —
10000 7T > AI/EE =R EAfi{F#KL 6000 7T > T LA
EwYe T °
(ZZE) +6000
AP PR T — 0 RBIfERR T+
£77K 6000 TTEC Ay + 6000 JT
1. AR E P~ O BT R 23 ~ —37 W%
P~ O WiEE 7 43Rk 12 5y > Rilig—5%
S Efire
(BE) S
affig - 23—(—37)=60
545y =60+12=5
8. ELHl n FyIE%ESy » FREUREEE - 35 | HHEL |
=n > AR RGN REEAE 11 {E Rl n=

(BZE) 5
afif - FEUREE AR REE ¢
0~F1~+2~ 43445, 11 {# > FFbln=35
9. B4R - —Bh A FE[FBE /275 3 BEALRR 0 35 A4
DIgoy o 2 BEAU AR /RS E) - HIl 10 538



& AR ENIERRATER,
(&%) —23
sffifE - A(—3)
2x10=20 > —3—20=—23
10. e EAEIRBEAY/EHE - i HLELFREAHEE 4 (]

BN RS > FTRoRAVECE o
(BFE) —4

affi  RBE/CE 4 (E AL EAYEE By —4
11.4~B~C-~ DUy [F2EEREE » EAIA4EE C
B~ BEL D & ~ A Lk B & - RIBIO{r [EEHY
ReEA ARV INIEF R e
(%Y C>A>B>D
afff - R TR C>A>B>D
12, ZEHEEVHE B —(—7) » AIFEE

(BxE) —7
affEE = —(—(—=T)=—7
= stE:EEFET > #H£307)

1. BEE—REEFIEES 82 77 HhEE X
B BiaE= 88 47 HIHER T 6 73 LL+2 35%
TR EFE S T RERE RS 73 47 0 A DA%y
FR?

(BFE) 37

AR N (88 —82)+[ =6+ ]=2
=L 1=3

FrLL(82—73)+3=9+3=3

R AR —3

2. g A~ B~ C~ D~ ERFFENEIRIE
—4~ —1~0~7~2 DL A BrFEs > By
FELIEE AN EE > KL A RS RrEER LRy
HEEZD?

(BZE) 40) ~ B3) ~ C(4) ~ D(11) ~ E(6)

affE ARy A(—4) — A(0)
Bl IR ALK 45 7% 4 (1d Bz
FrLL B(—1) — B(3)

) — C4)

D(7) — D(11)

E(2) — E(6)

3. B E—HBHARMAFE 6 A0 5B -

(1) A BEFTRFRAVELRy 12 3K 4 BhEL R
FEEE o
(2)7%% B BREAJFEEAHEE 150 N4y - H B BEAEH
BhZFET7 0 K B BEFTUERAVEL -
(BFZ) (D72 25r (2)—25
R (1)6x12="T2
(2)150+-6=25 > FrLlEt iy —25
4, EREER - FFEEE Lo R —4

7
2~ —1-~—35- —Z%%m@ °

(EZ)

4 35 —4 —I 2
—
-4 -3 -2 -1 0 1 2

SRR AEFTT
5. BELL 2 53 Ry B AT IE— 4T TS
By 15> 35 -
()EHETHIE B % D ING 2
QUEILL 5 A5 B BRI - RIFTHAEHISR
%19
(BZE) (D305 (2)6
BERR © (1)2x15=30(/ %))
(2)30+5=6



